
 Разминка
«Светофор»



1) Сравнить 
14,999 и 140,1

>        <



1) Сравнить 
14,999 и 140,1

<



2) Сравнить 
 8,6   и   8,56

>        <



2) Сравнить 
 8,6   и   8,56

>



3) Записать в виде
десятичной дроби

3,100      0,3



3) Записать в виде
десятичной дроби



4) Округлить 
до десятых 

13,651

13,7        14,6



4) Округлить 
до десятых 

13,651

13,7        



5) Округлить 
до десятков 

13,651

 13,7           1



5) Округлить 
до десятков 

13,651



6) Указать 
правильную запись

+14,5 7    +14,5 7 
       3,7        3,7  .           



6) Указать 
правильную запись

                 +14,5 7 
.                     3,7  .           



7) Вычислить 
0,4 + 0,6 =

 0,10       1



7) Вычислить 
0,4 + 0,6 =

               1



Решить уравнение
0,5 + х = 0,6

 0,1        1



Решить уравнение
0,5 + х = 0,6

 0,1        



Количество
правильных ответов

Количество 
заработанных 

жетонов 

      1, 2 1
      3, 4 2
      5, 6 3
      7, 8 4


